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1200 [= 0 [ 83, 100 Al 4,674,820]
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125 [= 0 (= 83, 100 Al 3,727,752]
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@ =2t
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O= A SXY|
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2 X(110,496,0002)-21 & (112,800,000 ) = A2,304
oLz e 9 olgt
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2 A (252,400,000 )-J1 & (260,400,00084) = A8,000
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B2 A Y| 74,000 0 74,000
74,000 0 74,000 |01 LBr2YH]
OFCIAXMH 28 L AIS X
3,700,0002X200H s = 74,000
(%) 74,000
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A0 A 75,310 74,130 1,180
120
Z AR AY| 75,310 74,130 1,180
201
UBI2 A Y| 75,310 74,130 1,180




Z:(1000) 2 BHat A H| 2 (1200) Lt ™ | S (1290) P& A HMIgt:(1294) 3l Hl 22l HMIAISt: (120) F A& A H| [2O0I7s
ni: = pJ = Hl mi
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2% (3,900,000 )-J| & (4,000,00084) = A100
ousiZe 42
218,480,000 )-J1 & (18,720,0008 ) = A 240
OSEHA H2H| A27 260
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2 & (97,300,000 )-21 & (109,200,0008 ) = A11,900
@K & Ltet
2 E (52,440,000 )-J1 & (67,800,000 ) = 215,360
OSEA A& ZEH X 18,808




Z:(1000) 2 BHat A H| 2 (1200) Lt ™ | S (1290) P& A MI&E: (1295) TH Akt 2| HMIAISt: (120) F A& A H| [2O0I7s
ni: = pJ = Hl mi
ol & oH A = ol =
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2 (68,232,0002 )-J1 & (76,240,0008 ) = A8,008
@°/ =) Xt
22X (5,100,000 )-J|1 & (5,200,0008) = A100
@AY SX 4l
2& (9,800,000 )-J1 & (10,000,000&) = A 200
@) SXzel
2%(10,000,0002 )-21& (10,500,000 ) = A 500
200
AR Ol AF 203, 159 212,564 29,405
220
KA AL 203, 159 212,564 A9,405
206
X 24| 60,830 71,660 210,830
Oga )| A 10,830
(PR A (52,560,000 )-J1& (61,920,000 ) = 29,360
QLR A X (6,570,0002 )-21H (7,740,0008 ) = 21,170
@S XlH| 2AA(1,700,0002 )-21H (2,000,0002) = 2300
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Al&H 2 119,325 120, 100 ATT5
CHyl
119,325 120, 100 AT7501 A&
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